MPG
(Mass Point Geometry)




Concept understanding:




Concept understanding:

Balancing depends upon:
1. Weight of the objects
. 2. Distance of objects from the

A balance point
100 kg

5 kg 5 kg
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Concept understanding:




Concept practice:




Questions involving two cevians:




I. In a triangle ABC, there are
points D and E on AB and AC

. AD _ 3
respec;;gvely1 such that 3D -3
and —=-. BE and CD

CE 3
intersect at F. Fincj BF:EF.
frasr a4BC #, D IR E

ST AB YT AC W ﬁq%
AD 3 AE 1

== E—E%.BEE!ﬁT
CD T& gAY HI F T s
&IdY §. a BF:EF T AT
Id1sU.

a)9:8 8:9
c)2:15 d)15:2




2..In the figure below, in
B@ triangle ABC, side BC is
divided by D in a ratio
5:2 and AB is divided by
E in a ratio 3: 4. Find the
value of EF:EC.
& wh ety # P
AABC #, fag D ¥ BC FY
5:2 % 3R fag E oo AB
N 34 A dledar g a
EF:EC T HTT FdT31T.
15:29 b) 14 : 29
c)15: 14 d) 14 : 15




3.In a triangle ABC, points D
and E are on BC and AC,
respectively. AD and BE
intersect at point F such
that AF:FD = 4:1 and
BD:DC = 2:1 then find
AE: EC.

fsger AABC #, D 3R E o=
Bcr-rerrAchﬁg% AD 3R
BE 39 # g F W 37 @
¥ Fredr § & AF:FD=4:1
ik BD:DC=2:1 @& @
AE:EC &T ATl ddT3iT.

a)4: 11 b)11: 4

c)3:8 /78:3

| | 10



Y. In AABC, D and E are points on
sides AB and BC, respectively,
such that BD : DA = 1:
2and CE:EB=1:4.If DC
and AE intersect at F ,
then FD : FC is equal to:

T, FD : FC &1 AT A
Y

a)3:2 b) 5: 2

;)/8:3 d)4:1
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| SSC CHSL, 19 Apr 2021 si



5.D is the mid point of BC
of AABC. Point E lies on
AC such that CE =
%AC . BE and AD

intersect at G. What is

AG.)

AABC C) & BC I

| SSC CGL 05 Mar 2020 S1 | 12



6.In AXYZ, P is the midpoint of
side XZ and Q is a point on side
XY such that QZ bisects PY. If
XQ = 24 cm. then what is the
length (in cm) of QY?

AXYZ H, : P STSIT XZ &I
m'qﬁg Q HaIr
XY mﬁﬁ—ag?r%ﬁ?

Qz, PY a:‘r FHC AT FHLaT
¢l IR XQ = 24cm. B, @
QY T 4GS (cm &) ATT I

a) 6 b) 18
c)8 12
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7.In AABC,D is the mid-point of
side AC and E is a point on side
AB such that EC bisects BD at F. If
AE = 30 cm, then the length of
EBis:
AABC ®, 8T AC & #eg-fag
D 3R s AB W & fig E
59 YhR & & EC, BD COlT |
F W §AgEHST &t %l
Ife AE=30cm &, @ EB
AFETS AT B
a)18 cm b) 10 cm
c)20cm /f 15cm

| SSCCGLT1, 16 Aug 2021 S3| 14



Questions involving three cevians:




g2 AD is a median of AABC.
Point E lies on AC such

that CE=2AC. BE, CF
and AD intersect at O.
Whatis%?

AD X8IST AABC #T AT
T | ¥om AC W g E 39
e Rua ¢ & CEngc
¢ | BE, CF 3iix AD e fago
W yfesRd wwl ¥ | 4
1 87

4:5 b) 8:3

oK)
c)5:4 d)9:5

| | 16



. . . A0 _ 4
q. In the given figure, if o0 = 3

and 22 =, Find the 2=,

OE 3 FO
& TR aefa A7 R
AO 4 BO 5 ocC
=3 I Gp=3 a5
ELIEL
a)11:56 b) 56:11
c) 11:45 /ﬁszu
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